Gemischt–quadratische Gleichung
Normalform  x² +px +q = 0



Bringe in die Normalform und kreise  p  und  q  in verschiedenen Farben ein:
	
	

	a) 2x² + 8x = 42          | – 42
    2x² + 8x – 42 = 0    | : 2

    ..............


	a) x² +4   x  –21 = 0

	
	

	b) 3x² –18x +15 = 0

	b) x² –6x +5 = 0

	
	

	c) 4x² – 16x – 48 = 0

	c) x² –4x –12 = 0

	
	

	d) 5x² + 10 x – 120 = 0

	d) x² + 2x – 24 = 0

	
	

	e) 3x² = 9x + 54

	e) x² –3x –18 = 0

	
	

	f) 6x –72 = – 3x²

	f) x² + 2x – 24 = 0

	
	

	g) 2x² – 2x = 84

	g) x² –x –42 = 0

	
	

	h) –24 = –3x² – 6x

	h) x² + 2x – 8 = 0
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